restart
EcuacionDiferencial -== diff (y(x),x) =0

EcuacionDiferencial .= % y(x)=0

Solucion = dsolve( EcuacionDiferencial)
Solucion =y(x) = CI

Comprobar = eval(subs(y(x) =rhs(Solucion), EcuacionDiferencial))
Comprobar :=0=0

restart

EcuacionDiferencialDos = y'=y

EcuacionDiferencialDos = % y(x) =y(x)

SolucionDos = dsolve( EcuacionDiferencialDos)
SolucionDos :=y(x) = CI &'

ComprobarDos = eval(subs(y(x) =rhs(SolucionDos), lhs ( EcuacionDiferencialDos)
— rhs(EcuacionDiferencialDos) =0) )
ComprobarDos := 0 =0

restart

SolucionGeneral := y(x) = Cl-exp(2-x) + C2-x-exp(2-x)
SolucionGeneral :=y(x) = CI e + (C2x e

DerivadaPrimera = diff (SolucionGeneral, x)

DerivadaPrimera = (x)=2 _CI e + 2 e +2 C2x e

e
DerivadaSegunda := diff (SolucionGeneral, x$2)
2
DerivadaSegunda := d—z v(x)=4 CI e’ +4 2 e?* +4 C2x e
dx

with(linalg) :

Raiz = solve( { DerivadaPrimera, DerivadaSegunda}, { CI, C2}) :Raiz[1]; Raiz[2]
d & d &

e SIS (gy(x)] 4o ) - [gym)

Cl= Z ezx

d a2
L 2(ay(x>j—[§y(x>)
— - 2 er

EcuacionDiferencial :== simplify(subs(_CI =rhs(Raiz[1]), C2=rhs(Raiz[2]),
SolucionGeneral) )

d 1 &

EcuacionDiferencial .= y(x) = & y(x) —— — y(x)

EcuacionFinal := lhs(EcuacionDiferencial) -4 — rhs(EcuacionDiferencial) -4 =0

- d &
EcuacionFinal :=4 y(x) —4 (a y(x)) + g y(x)=0

SolucionGeneralDos = dsolve( EcuacionFinal)
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> SolucionGeneral

[ L

SolucionGeneralDos :=y(x) = CI 2 + _C2x e

y(x)
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